scA E@

POWER EQUIPMENT

Hurricane Muich System

ILLUSTRATED PARTS LIST

THIS MANUAL CONTAINS THE ILLUSTRATED PARTS LIST FOR:

9263 - Hurricane Mulch System 36" Advantage Decks
9264 - Hurricane Mulch System 48" Advantage Decks
9265 - Hurricane Mulch System 52" Advantage Decks
9266 - Hurricane Mulch System 61" Advantage Decks
9267 - Hurricane Mulch System 72" Advantage Decks

April, 2004 PART NUMBER 06120



Underside View of 48A, 52A, 61A & 72A Cutter Decks

o

= r‘(—_z

2004 or Later Machines with a serial number of 8910000 or higher

4
6
8 9
1
10
Ref. No. Description 48A - #9264 | 52A - #9265 | 61A - #9266 | 72A - #9267
1 Mulch Baffle L.H. 423985 423988 423991 423994
2 Eliminator Mulch Blades 482960 482961 482963 482694
3 Elastic Stop Nut 5/16-18 04021-10 04021-10 04021-10 04021-10
4 H.H. Bolt 5/16-18 x 1” 04001-09 04001-09 04001-09 04001-09
5 Flatwasher 5/16” 04040-15 04040-15 04040-15 04040-15
6 Mulch Plate 451637 451638 451639 451640
7 Carriage Bolt 3/8-16 x 1-1/4" 04003-24 04003-24 04003-24 04003-24
8 Flatwasher 3/8” 04041-07 04041-07 04041-07 04041-07
9 Elastic Stop Nut 3/8-16 04021-09 04021-09 04021-09 04021-09
10 Mulch Baffle R.H. 423986 423989 423992 423995
11 Divider Plate 423987 423984 423993 423996
12 Carriage Bolt 3/8-16 x 1" 04003-23 04003-23 04003-23 04003-23
13 Hurricane Plate 423980 423979 423981 423982
Note!

The mulch baffles for your deck may not appear exactly as shown in the above illustration.
Please use this drawing to assist you in identifying the correct part number by referring to
the part location on the deck.



Underside View of 36A Cutter Decks
2004 or Later Machines with a serial number of 8910000 or higher

Ref. No. Description 36A - #9263
1 Eliminator Mulch Blades 482961
2 Elastic Stop Nut 5/16-18 04021-10
3 H.H. Bolt 5/16-1" 04001-09
4 Flatwasher 5/16” 04040-15
5 Mulch Plate 451636
6 Carriage Bolt 3/8-16 x 1-1/4" | 04003-24
7 Flatwasher 3/8” 04041-07
8 Elastic Stop Nut 3/8-16 04021-09
9 Mulch Baffle 423983
10 Carriage Bolt 3/8-16 x 1" 04003-23
11 Hurricane Plate 423979
12 Divider Plate 423984






